Cheng-Yang Gu; Victor J. W. Guo *q*-analogues of two supercongruences of Z.-W. Sun

Czechoslovak Mathematical Journal, Vol. 70 (2020), No. 3, 757-765

Persistent URL: http://dml.cz/dmlcz/148326

Terms of use:

© Institute of Mathematics AS CR, 2020

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

q-ANALOGUES OF TWO SUPERCONGRUENCES OF Z.-W. SUN

CHENG-YANG GU, VICTOR J. W. GUO, Huai'an

Received November 26, 2018. Published online January 22, 2020.

Abstract. We give several different q-analogues of the following two congruences of Z.-W. Sun:

$$\sum_{k=0}^{(p^r-1)/2} \frac{1}{8^k} \binom{2k}{k} \equiv \left(\frac{2}{p^r}\right) \pmod{p^2} \text{ and } \sum_{k=0}^{(p^r-1)/2} \frac{1}{16^k} \binom{2k}{k} \equiv \left(\frac{3}{p^r}\right) \pmod{p^2},$$

where p is an odd prime, r is a positive integer, and $\left(\frac{m}{n}\right)$ is the Jacobi symbol. The proofs of them require the use of some curious q-series identities, two of which are related to Franklin's involution on partitions into distinct parts. We also confirm a conjecture of the latter author and Zeng in 2012.

Keywords: congruences; q-binomial coefficient; cyclotomic polynomial; Franklin's involution

MSC 2020: 11B65, 05A10, 05A30, 11A07

1. INTRODUCTION

Among other things, Sun in [14], (1.7) and (1.8) proved the congruences

(1.1)
$$\sum_{k=0}^{(p^r-1)/2} \frac{1}{8^k} \binom{2k}{k} \equiv \left(\frac{2}{p^r}\right) \pmod{p^2},$$

(1.2)
$$\sum_{k=0}^{(p^r-1)/2} \frac{1}{16^k} \binom{2k}{k} \equiv \left(\frac{3}{p^r}\right) \pmod{p^2},$$

The latter author was partially supported by the National Natural Science Foundation of China (grant 11771175).

DOI: 10.21136/CMJ.2020.0516-18

where p is an odd prime, r is a positive integer, and $\left(\frac{m}{n}\right)$ is the Jacobi symbol. Recently, the latter author and Liu in [6], Theorem 1.2 gave the following q-analogue of (1.1): for odd n,

(1.3)
$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k q^{k^2}}{(q^4;q^4)_k} \equiv (-q)^{(1-n^2)/8} \pmod{\Phi_n(q)^2}.$$

Here and in what follows, $(a;q)_n = (1-a)(1-aq)\dots(1-aq^{n-1})$ and $\Phi_n(q)$ is the *n*th cyclotomic polynomial in q.

The first aim of this paper is to give q-analogues of (1.1) and (1.2) as follows.

Theorem 1.1. Let n be a positive odd integer. Then

(1.4)
$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k q^{2k}}{(q^2;q^2)_k (-q;q^2)_k} \equiv \left(\frac{2}{n}\right) q^{2\lfloor (n+1)/4\rfloor^2} \pmod{\Phi_n(q)^2}$$

(1.5)
$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k q^{2k}}{(q^4;q^4)_k (-q;q^2)_k} \equiv \left(\frac{3}{n}\right) q^{(n^2-1)/12} \pmod{\Phi_n(q)^2},$$

where $\lfloor x \rfloor$ denotes the largest integer not exceeding x.

It is easy to see that the congruences (1.4) and (1.5) reduce to (1.1) and (1.2), respectively, when $q \to 1$ and $n = p^r$.

Recall that the *q*-binomial coefficients $\begin{bmatrix} n \\ k \end{bmatrix}$ are defined by

$$\begin{bmatrix} n \\ k \end{bmatrix} = \begin{bmatrix} n \\ k \end{bmatrix}_q = \begin{cases} \frac{(q;q)_n}{(q;q)_k(q;q)_{n-k}} & \text{if } 0 \leqslant k \leqslant n, \\ 0 & \text{otherwise.} \end{cases}$$

Moreover, the *q*-integer is defined as $[n] = [n]_q = (1 - q^n)/(1 - q)$. The second aim of this paper is to give the following result, which in the case $n = p^r$ confirms a conjecture of the latter author and Zeng, see [8], Conjecture 5.13.

Theorem 1.2. Let n be a positive integer. Then

(1.6)
$$\sum_{k=0}^{n-1} q^{(n-k)^2} {n+k \brack k}^2 {n-1 \brack k}^2 \equiv q[n] \pmod{\Phi_n(q)^2}.$$

Note that, exactly similarly to the proof of Theorem 5.3 in [8], we can show that

(1.7)
$$\sum_{k=0}^{n-1} q^{(n-k)^2} {n+k \brack k}^2 {n-1 \brack k}^2 \equiv 0 \pmod{[n]}.$$

Therefore, combining the congruences (1.6) and (1.7), we see that the congruence (1.6) also holds modulo $[n]\Phi_n(q)$. We refer the reader to [7] and references therein for other congruences on sums involving q-binomial coefficients.

Suggested by the referee, we would like to make the following conjecture.

Conjecture 1.3. The congruence (1.6) still holds modulo $[n]\Phi_n(q)^2$.

The paper is organized as follows. In the next section, we give a new proof of a curious q-series identity of Liu, see [12] and also provide two similar identities. We prove Theorems 1.1 and 1.2 in Sections 3 and 4, respectively. Finally in Section 5, motivated by the recent work of the latter author and Zudilin, see [9], we give parameter generalizations of (1.3)–(1.5) and show more complicated q-analogues of (1.1) and (1.2).

2. A curious q-series identity of J.-C. Liu

Liu in [12], (2.3) presented the following q-series identity:

(2.1)
$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {\binom{2n-k}{k}} (-q;q)_{n-k} = (-1)^{\binom{n}{2}} q^{\binom{n}{2} + \lfloor (n+1)/2 \rfloor^{2}},$$

which will be used in our proof of (1.4). We give a new proof (2.1) here for two reasons. Firstly, Liu's proof of (1.4) is a little complicated and cannot be generalized to prove similar identities. Secondly, we want the paper to be more self-contained.

Proof of (2.1). By the *q*-binomial theorem (see, for example, [1], page 36, Theorem 3.3), we have

$$(x;q)_N = \sum_{k=0}^N (-1)^k q^{\binom{k}{2}} {N \brack k} x^k, \quad \frac{1}{(x;q)_N} = \sum_{k=0}^\infty {N+k-1 \brack k} x^k,$$

and so

(2.2)
$$\left(\sum_{k=0}^{n+a} (-1)^k q^{\binom{k}{2}} {n+a \atop k} x^k \right) \left(\sum_{k=0}^{\infty} {n+a+k \atop k} x^k \right) = \frac{(x;q)_{n+a}}{(x;q)_{n+a+1}} = \frac{1}{1-xq^{n+a}}.$$
(2.2) (2.2)

Equating the coefficients of x^{n-a} on both sides of (2.2), we obtain

$$\sum_{k=0}^{n-a} (-1)^k q^{\binom{k}{2}} {n+a \brack k} {2n-k \brack n-a-k} = q^{n^2-a^2},$$

which can be written as

(2.3)
$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {\binom{2n-k}{k}} {\binom{2n-2k}{n-k+a}} = q^{n^{2}-a^{2}}$$

With the help of (2.3), we are now able to prove (2.1). By Slater's Bailey pair C(1) in [13], we have

$$(-q;q)_n = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^k q^{3k^2+k} \begin{bmatrix} 2n\\ n+2k \end{bmatrix}.$$

It follows that

(2.4)
$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {\binom{2n-k}{k}} (-q;q)_{n-k} = \sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {\binom{2n-k}{k}} \sum_{j=-\lfloor (n-k)/2 \rfloor}^{\lfloor (n-k)/2 \rfloor} (-1)^{j} q^{3j^{2}+j} {\binom{2n-2k}{n-k+2j}}.$$

Interchanging the summation order on the right-hand side of (2.4) and using (2.3), we get

(2.5)
$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {\binom{2n-k}{k}} (-q;q)_{n-k} = \sum_{j=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^{j} q^{n^{2}-j^{2}+j}.$$

Since the *j*th and (1 - j)th terms on the right-hand side of (2.5) cancel each other for $j = 1, \ldots, \lfloor n/2 \rfloor$, only the term corresponding to $j = -\lfloor n/2 \rfloor$ on the right-hand side of (2.5) survives. This proves (2.1).

Similarly, we can show that

(2.6)
$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k+1}{2}} {\binom{2n-k}{k}} (-q;q)_{n-k} = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^{k} q^{3k^{2}+k}.$$

There are many more identities similar to (2.1) and (2.6). For example, using the identities (see [10], Proposition 2)

$$(-q;q^2)_n = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^k q^{2k^2} {2n \choose n+2k},$$
$$(1+q^n)(-q^2;q^2)_{n-1} = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^k q^{2k^2+k} {2n \choose n+2k},$$

we can prove that

(2.7)
$$\sum_{k=0}^{n} (-1)^{k} {\binom{2n-k}{k}} (-q;q^{2})_{n-k} q^{\binom{k}{2}} = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^{k} q^{n^{2}-2k^{2}},$$
$$\sum_{k=0}^{n} (-1)^{k} {\binom{2n-k}{k}} (1+q^{n-k}) (-q^{2};q^{2})_{n-k-1} q^{\binom{k}{2}} = \sum_{k=-\lfloor n/2 \rfloor}^{\lfloor n/2 \rfloor} (-1)^{k} q^{n^{2}-2k^{2}+k},$$

where $(-q^2; q^2)_{-1} = 1/2$.

3. Proof of Theorem 1.1

It is easy to see that

$$(1 - q^{n-2j+1})(1 - q^{n+2j-1}) + (1 - q^{2j-1})^2 q^{n-2j+1} = (1 - q^n)^2,$$

 $1-q^n \equiv 0 \pmod{\Phi_n(q)}$, and so

$$(1-q^{n-2j+1})(1-q^{n+2j-1}) \equiv -(1-q^{2j-1})^2 q^{n-2j+1} \pmod{\Phi_n(q)^2}.$$

Therefore,

$$(3.1) \quad (q^{1-n}; q^2)_k (q^{n+1}; q^2)_k = (-1)^k \prod_{j=1}^k (1 - q^{n-2j+1})(1 - q^{n+2j-1})$$
$$\equiv q^{k^2 - nk} \prod_{j=1}^k (1 - q^{2j-1})^2 q^{n-2j+1} = (q; q^2)_k^2 \pmod{\Phi_n(q)^2}.$$

It follows that

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k q^{2k}}{(q^4;q^4)_k (-q;q^2)_k} \equiv \sum_{k=0}^{(n-1)/2} \frac{(q^{1-n};q^2)_k (q^{n+1};q^2)_k}{(q^2;q^4)_k (q^4;q^4)_k} q^{2k}$$
$$= \sum_{k=0}^{(n-1)/2} (-1)^k q^{k(k-n+2)} \frac{(n-1)/2 + k}{(n-1)/2 - k} \Big]_{q^2}$$
$$= \sum_{k=0}^{(n-1)/2} (-1)^{(n-1)/2-k} q^{n-(n^2+3)/4+2\binom{k}{2}} \frac{n-1-k}{k} \Big]_{q^2}$$
$$= (-1)^{(n-1)/2} \left(\frac{n}{3}\right) q^{(n^2-1)/12} \pmod{\Phi_n(q)^2}.$$

The last equality holds because of the identity (see [2], [3], [4])

(3.2)
$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k q^{\binom{k}{2}} {n-k \brack k} = \begin{cases} (-1)^{\lfloor n/3 \rfloor} q^{n(n-1)/6}, & \text{if } n \not\equiv 2 \pmod{3}, \\ 0, & \text{if } n \equiv 2 \pmod{3}. \end{cases}$$

The proof of (1.5) then follows from the quadratic reciprocity law

$$\left(\frac{3}{n}\right) = (-1)^{(n-1)/2} \left(\frac{n}{3}\right).$$

Similarly, we have

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k q^{2k}}{(q^2;q^2)_k (-q;q^2)_k} \equiv \sum_{k=0}^{(n-1)/2} (-1)^{(n-1)/2-k} q^{n-(n^2+3)/4+2\binom{k}{2}} {\binom{n-1-k}{k}}_{q^2} (-q^2;q^2)_{(n-1)/2-k} = \left(\frac{2}{n}\right) q^{2\lfloor (n+1)/4\rfloor^2} \pmod{\Phi_n(q)^2}.$$

The last equality follows from (2.1) by replacing n with (n-1)/2 and q with $q \to q^2.$

4. Proof of Theorem 1.2

We can easily prove the congruence

$$(q^{1-n};q)_k(q^{n+1};q)_k = (q;q)_k^2 \pmod{\Phi_n(q)^2}$$

similar to (3.1). It follows that

$$\binom{n+k}{k}^2 \binom{n-1}{k}^2 = \frac{(q^{n+1};q)_k^2(q^{1-n};q)_k^2}{(q;q)_k^4} q^{2nk-k^2-k} \equiv q^{2nk-k^2-k} \pmod{\Phi_n(q)^2}$$

and so

$$\sum_{k=0}^{n-1} q^{(n-k)^2} {n+k \brack k}^2 {n-1 \brack k}^2 \equiv \sum_{k=0}^{n-1} q^{n^2-k} = q^{n^2-n+1}[n] \equiv q[n] \pmod{\Phi_n(q)^2}$$

as desired.

5. Concluding Remarks

Very recently, the latter author and Zudilin in [9] developed a *creative microscoping* method to prove q-supercongruences by adding a parameter a (see also [5]). Along the same lines, we can generalize (1.3)-(1.5) as follows: for any positive odd integer n modulo $(1 - aq^n)(a - q^n)$:

(5.1)
$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k (q/a;q^2)_k q^{k^2}}{(q;q^2)_k (q^4;q^4)_k} \equiv (-q)^{(1-n^2)/8},$$

(5.2)
$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k(q/a;q^2)_kq^{2k}}{(q^2;q^2)_k(q^2;q^4)_k} \equiv \left(\frac{2}{n}\right) q^{2\lfloor (n+1)/4\rfloor^2},$$

(5.3)
$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k (q/a;q^2)_k q^{2k}}{(q^4;q^4)_k (q^2;q^4)_k} \equiv \left(\frac{3}{n}\right) q^{(n^2-1)/12}.$$

It is easy to see that, letting $a \to 1$ in (5.1)–(5.3), we recover (1.3)–(1.5), respectively.

Moreover, there are other different q-analogues of (1.1) and (1.2). For example, applying the identities (2.6)–(2.8) (replacing n with (n - 1)/2 and q with q^2), we have the following more complicated q-analogues of (1.1) modulo $\Phi_n(q)^2$:

$$\begin{split} \sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k}{(q^2;q^2)_k(-q;q^2)_k} &\equiv (-1)^{(n-1)/2} q^{(1-n^2)/4} \sum_{k=-\lfloor (n-1)/4 \rfloor}^{\lfloor (n-1)/4 \rfloor} (-1)^k q^{6k^2+2k}, \\ \sum_{k=0}^{(n-1)/2} \frac{(-q^2;q^4)_k(q;q^2)_k q^{2k}}{(q^4;q^4)_k(-q;q^2)_k} &\equiv (-1)^{(n-1)/2} q^{(n^2-1)/4} \sum_{k=-\lfloor (n-1)/4 \rfloor}^{\lfloor (n-1)/4 \rfloor} (-1)^k q^{-4k^2}, \\ \sum_{k=0}^{(n-1)/2} \frac{(1+q^{2k})(-q^4;q^4)_{k-1}(q;q^2)_k q^{2k}}{(q^4;q^4)_k(-q;q^2)_k} &\equiv (-1)^{(n-1)/2} q^{(n^2-1)/4} \sum_{k=-\lfloor (n-1)/4 \rfloor}^{\lfloor (n-1)/4 \rfloor} (-1)^k q^{2k-4k^2}. \end{split}$$

Similarly, applying the invariant of (3.2) (see, for example, [11], (1.5))

$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k q^{\binom{k+1}{2}} \binom{n-k}{k} = \sum_{k=-\lfloor (n+1)/3 \rfloor}^{\lfloor n/3 \rfloor} (-1)^k q^{k(3k+1)/2},$$

which follows readily from Franklin's involution on partitions into distinct parts (see the proof of [1], Theorem 1.6), we have the following q-analogue of (1.2): modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k}{(q^4;q^4)_k(-q;q^2)_k} \equiv (-1)^{(n-1)/2} q^{(1-n^2)/4} \sum_{k=-\lfloor n/3 \rfloor}^{\lfloor (n-1)/3 \rfloor} (-1)^k q^{3k^2+k}.$$

There are also parameter generalizations of the above four congruences, which are omitted here.

Acknowledgment. We thank the anonymous referee for helpful comments on a previous version of this paper.

References

[1]	G. E. Andrews: The Theory of Partitions. Cambridge Mathematical Library, Cambridge		
	University Press, Cambridge, 1998.	\mathbf{zbl}	MR doi
[2]	A. Berkovich, F. G. Garvan: Some observations on Dyson's new symmetries of partitions.		
	J. Comb. Theory, Ser. A 100 (2002), 61–93.	\mathbf{zbl}	MR doi
[3]	J. Cigler: A new class of q-Fibonacci polynomials. Electron. J. Comb. 10 (2003), Re-		
	search paper R19, 15 pages.	\mathbf{zbl}	MR
[4]	S. B. Ekhad, D. Zeilberger: The number of solutions of $X^2 = 0$ in triangular matrices		
	over $GF(q)$. Electron. J. Comb. 3 (1996), Research paper R2, 2 pages.	\mathbf{zbl}	MR
[5]	V. J. W. Guo: Common q-analogues of some different supercongruences. Result. Math.		
	74 (2019), Article No. 131, 15 pages.	\mathbf{zbl}	MR doi
[6]	V. J. W. Guo, JC. Liu: q-analogues of two Ramanujan-type formulas for $1/\pi$. J. Differ-		
	ence Equ. Appl. 24 (2018), 1368–1373.	\mathbf{zbl}	MR doi
[7]	V. J. W. Guo, SD. Wang: Factors of sums and alternating sums of products of		
	q-binomial coefficients and powers of q-integers. Taiwanese J. Math. 23 (2019), 11–27.	\mathbf{zbl}	MR doi
[8]	V. J. W. Guo, J. Zeng: New congruences for sums involving Apéry numbers or central		
	Delannoy numbers. Int. J. Number Theory 8 (2012), 2003–2016.	\mathbf{zbl}	MR doi
[9]	V. J. W. Guo, W. Zudilin: A q-microscope for supercongruences. Adv. Math. 346 (2019),		
	329–358.	\mathbf{zbl}	MR doi
[10]	M. E. H. Ismail, D. Kim, D. Stanton: Lattice paths and positive trigonometric sums.		
	Constructive Approximation 15 (1999), 69–81.	\mathbf{zbl}	MR doi
[11]	JC. Liu: Some finite generalizations of Euler's pentagonal number theorem. Czech.		
	Math. J. 67 (2017), 525–531.	\mathbf{zbl}	MR doi
[12]	JC. Liu: Some finite generalizations of Gauss's square exponent identity. Rocky Mt.		
	J. Math. 47 (2017), 2723–2730.	\mathbf{zbl}	MR doi
[13]	L. J. Slater: A new proof of Rogers's transformations of infinite series. Proc. Lond. Math.		
	Soc., II. Ser. 53 (1951), 460–475.	\mathbf{zbl}	MR doi

 [14] Z.-W. Sun: Fibonacci numbers modulo cubes of primes. Taiwanese J. Math. 17 (2013), 1523–1543.
 Zbl MR doi

Authors' address: Cheng-Yang Gu, Victor J. W. Guo (corresponding author), School of Mathematics and Statistics, Huaiyin Normal University, Huai'an 223300, Jiangsu, P.R. China, e-mail: 525290408@qq.com, jwguo@hytc.edu.cn.